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. (A) They don’t enjoy swimming.

(B) They won’t go swimming in the lake today.
(C) They don’t know how to swim,
(D) They’ll swim in the lake tomorrow.

. (A) The style of sweater she’s wearing i$ very common.

(B) The man saw Jill wearing the sweater.
(C) She wore the sweater for the first time yesterday.
(D) She usually doesn’t borrow clothes from Jill.

. (A) He went to see the dentist a week ago.
(B) The woman should cancel her appointment with the dentist.

(C) The woman’s toothache will go away by itself.
(D) The woman should have seen the dentist by now.

. (A) She’s planning a trip to Antarctica.

(B) She thinks attending the lecture will be helpful to her.
(C) Her geography class is required to attend the lecture.
(D) She has already finished writing her report.

. (A) The woman should join the chess club.

(B) He’s not a very good chess player.
(C) The woman needs a lot of time to play chess.
{P) He’s willing to teach the woman how to play chess.

(A) His suit is too old to wear.

@)"He doesn’t want to buy new clothes.
(C) He doesn’t want to wear a suit.

(D) He’ll go shopping with the woman.

. (A) Calculate the bill again.

(B) Refuse to pay the bill.
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(C) Invite the man to dinner.
(D) Lend the man some money.

8. (A) Sara rarely makes mistakes.
(B) Sara usually says what she thinks.
(C) Sara’s boss is hard to work with.
(D) The secretary wasn’t a hard worker.

9. (A) She’d prefer to see a different type of movie than a comedy.
(B) She has already finished her research paper.
(C) She won’t be able to_go to a movie with the man.
(D) She’d like the man to help her with her research paper.

10. (A) He prefers to work part time.
(]é) He wants to change his class schedule.
(C) He’s having a difficult time finding a part-time job.
(D) He doesn’t want to work on campus.

11. (A) She’s pleased they were invited.
(B) Susan gave them the wrong directions.
{C) They’ll probably be late for dinner.
(D) Susan’s house is probably nearby.

* 12. {A) Buy some orange juice for the woman.
(B) Borrow some money from the woman.
(C) Drive the woman to the store.
(D) Pay back money the woman lent him.

13. (A) She hasn’t worn the dress in a long time.
(B) She doesn’t like the dress very much.
(C) She intends to give the dress to her sister.
(D) She doesn’t remember where her sister bought the dress.

14. (A) She never cleans the apartment.
(B) She’s doing a report with her roommate.
(C) She’s too busy to clean the apartment.
(D) She doesn’t like sharing an apartment.

*15. (A) He'll try to finish the novel tonight.
(B) He liked the novel very much.
(d) He doesn’t remember where he put the novel.
(D) He’s looking forward to the next liternature assignment
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16. (A) The woman swims as well as he does.
(B) He doesn’t have time to teach the woman to swim.
(C) He doesn’t enjoy swimming.
(D) He learned to swim at a young age.

17. (A9 She has already started working on her research project.
(B) She has decided on a research topic.
(C) She’d like to discuss her research with the man.
(D) She has to change the subject of her research.

*18. (A) Introduce the woman to his neighbor.
@)/ Get a key from his neighbor.
(C) Study in his neighbor’s apartment.
(P) Borrow some books from his neighbor.

19. (A) The man shouldn’t hire the same tutor that she had.
(B) She isn’t prepared for the midterm exam either.
(C) It’s too late to find a tutor.
D) The man should hire a tutor before the midterm exam.

20. (A) Stay in the hotel for at least two nights.
_(B) Leave the hotel the next morning.
(C) Ask the hotel clerk for her room key.
(D) Complain to the manager about the extra charges.

21. (A) The man hasn’t seen Joan recently.
(B) The man plans to call Joan soon.
(C) Joan doesn’t know what happened to the book.
4D) Joan gave the book to the man.

22. (A) Why she should tell her students about her plans.
(B) What he plans to do when he’s on sabbatical.
(C) Why she can’t take a sabbatical next semester.

(BYWhy her students probably weren’t surprised by her announcement.

¥ 3. (A) Put a little more pepper in the stew.
4B) Taste the stew to see if it needs pepper.
(C) Check the recipe to see if they followed it correctly.
(D) Serve the stew as it is.

* 04, (A) She wants to know where Tom heard the stories.
(B’) She’s surprised Tom was so serious last night.
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(CJ Tom doesn’t usually tell funny stories.
(D) The stories probably weren’t true.

(A) He plans to sell the books to a collector.

(B He won’t sell the books until he has read them.

&) The books probably aren’t worth a lot of money.

(D) The woman can borrow any of the books if she wants to.

(A) Watch a movie on television.
(B) Go out to dinner with the man.
(C) Go to the tennis court.

(I2) Play in the tournament.

(A) She wishes she could help the man.

(\@)’She has a bigger problem than the man has.

(C) She knows a mechanic who can fix the man’s car.
(19) The man should buy a new car.

(A) She’s pleased the man’s schedule won’t change.
(B) She can’t offer the man a flexible schedule.

(C) Whoever works at the front desk must have a flexible schedule.

(D) She doesn’t need anyone else to work at the front desk.

(A) He wants the woman to repeat her question.
(B) He agrees with the woman.

(C) He wants to talk about the movie.

(D) He wants to see the movie again.

(A) Professor Lane is liked by her students.

(B) Professor Lane never gives high grades.

(&) The man deserves the grade he received.

(D) The man should phone Professor Lane to thank her.

(A) A class presentation they’re preparing.
(B) A television program the man is watching.
(C) Visiting a close friend of theirs.

(DQ Studying for a test.

(A) He’s taking a break from studying.

(B) He has already finished studying.

(C) He was assigned to watch a program by his professor.
(D) He’s finding out some information for a friend.
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(A) He didn’t know that she was enrolled in a linear algebra course.

(B> He thought she preferred to study alone.
(C) He thought she had made arrangements to study with Elizabeth
(Me had told her that he had done poorly on a recent test.

(A) He and Elizabeth argued recently.

(B) He heard Elizabeth did poorly on the last test.

£€) He doesn’t want to bother Elizabeth so late in the evening.
(D) He’d rather study in his own dormitory.

(A) A more economical diesel fuel.
(B) Characteristics of a new type of fuels. N T;“ ;",
(C) Where a new energy source is located. P

(D) How to develop alternative energy sources.

(A) He’s studying for a test.

(B) He lost his notes.

(€ He missed the class.

(D) He’s doing research on alternative fuels.

(A) It will reduce the amount of pollutants in the air.

(B) It will increase the amount of unpleasant odors from vehicles.
(C) It will eventually destroy the ozone layer.

(D) It will reduce the cost of running large vehicles.

(\@f) It’s expensive to manufacture.

(B) It hasn’t been adequately tested.

(C) It damages car engines.

(D) It’s dangerous to transport.

(A) To help him explain the information to his roommate.
(B) To help him write a paper. '
4€) To prepare for a test.

(D) To tell her if the notes are accurate.

(A) The life and times of an important modern poet.
(B) How a poem’s images relate to its meaning.
£€) The musical quality of modern poetry.

(D) The poems of Gertrude Stein.

(A) She’s the most famous of the modern poets.
(B) She didn’t publish any of her works in her lifetime.
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(C) She was better known as a prose writer than as a poet.
(D) She began her career as a writer relatively late in her life.

(A) It reflects poetic techniques that were rejected by modern poets.
(B) It’s from a poem that the students have read.

(C) It’s the title of a poem by John Ashbery.

(D) It’s an example of a statement that is empty but pleasing to hear.

Read some poems out loud.
(B) Research the life of Gertrude Stein.

(€) Compare the poems of Gertrude Stein to the poems of John Ashbery.
(D) Write a few lines of poetry.

(A) Employment in the fishing and whaling industries.
(B) Nineteenth-century sea captains.

X¢2) The economic importance of sailing ships.
(D) The development of the steamship.

(A) They were protected by a strong United States Navy.

(B) They were supported by a well-developed railroad system.
(C) Most crew members had experience on foreign ships.

£D} As part owners of the ships’ captains got some of the profits.

(A) They carried passengers but not cargo.

AB) They were large but surprisingly fast.

(C) They were the first successful steam-powered ships.
(D) They were more reliable than other ships of the 1860’s.

(A) It’s now taught with the aid of computers.

(B) Itisn’t considered as important today as it was in the past.
(C) Children today learn it earlier than children did in the past.
(D) A lot of time is spent teaching it.

(A) To indicate the emphasis teachers once placed on penmanship.
(B) To criticize a technique used to motivate children.

(C) To illustrate the benefits of competition.

(D) To suggest that teachers be recognized for their efforts.

(A) How educators create a curriculum,

(B) Why some parents object to the teaching of penmanship.
(&) The standards for penmanship in state curricula.

(D) The effects of rewarding good penmanship.
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50. (A) The number of hours per week that must be spent teaching penmanship.
B) The level of penmanship a child is expected to have.
(C) The recommended method for teaching penmanship.
(D) The reason computers should be used to help in the teaching of penmanship
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. (A) She doesn’t think the shirt comes in a bigger size.

(B) She thinks shirt will fit the man.
(C) A checked shirt won’t look good on the man.
(D) The bigger sizes are more expensive.

. (A) She expects the man to have it.

(B) She’s angry with the man for forgetting it.
(C) She doesn’t know where it is.
(f)) She’d like the man to return it by tonight.

. (A) She didn’t buy the ticket.

(B) The ticket was expensive.
(C) She doesn’t know how much the ticket cost.
(D) There are still a few tickets left.

. (A) Eat a bigger breakfast.

(B) Make time for lunch in her schedule.
(€) Take only morning classes next semester.
(D) Change her schedule after she eats lunch.

. (A) He’s quitting the band for academic reasons.

(B) He didn’t enjoy being a member of the band.
(C) He’s getting academic credit for being in the band.
(D) He’s taking time off from his studies to join the band.

(A) The woman should get more sleep.

(B) The woman may be sicker than she realizes.
(C) He isn’t sick.

(I3) He doesn’t think the woman is sick.

. (A) The art museum isn’t open today.
P Y

(B) The number 42 bus doesn’t run on Mondays.
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{C) The man should wait for the number 42 bus.
(D) She has never taken the bus to the art museum.

(A) The man should buy a jacket instead of a suit.

(B) The green jacket doesn’t as well as the blue one.

(C) The style of clothing is more important than the color.
) The man looks better in blue.

(A) The woman will get to her class on time.
(B) The woman should go to a different counter.
(C) He doesn’t like sandwiches very much.

(D) He’s having trouble deciding what to eat.

(A) Her sister’s train is late.

(B) Her sister will visit in three months.
(&) She’ll have to leave without her Sister.
(D) She’s eager to see her sister.

(A) Help the man with his essay.

(B) Ask Sue to rehearse with her.

(C) Wait to rehearse until the man has finished his essay.
(D) Memerize her lines by herself.

(A) Show her the newspaper that he’s talking about.
(B) Think about getting an internship at another place.
(C) Sign up for more than one journalism class.

(D) Call The Times about the internship.

. (A) He isn’t as good a tennis player as he used to be.

(B) He hasn’t had time to play tennis recently.
(C) He caught a cold shortly after the tournament.
(D) He thinks he’s more important than he is.

(A) He’ll graduate before the woman.

(B) He hopes to graduate before the summer.

(&) He doesn’t want to attend school year-round.
(D) The woman won’t be able to keep up the pace.

(A) It’s too late to buy the morning newspaper.
(B) He doesn’t want to go to the concert.

(C) The box office is closed today.

() All of the tickets have been sold.
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(A) She needs more time to get ready for the dinner.
(B) She thought the dinner was at another time.

(C) She forgot about the plans she made for dinner.
() She won’t be able to go to dinner.

(/A;‘x) Take the class this semester.

(B) Get permission to take the class.
(C) Take the class over again.

(D) Register for the class next semester.

(A) He doesn’t like his new eyeglass frames.
(B) He didn’t get a haircut.
(C) He got his eyeglasses a long time ago.

(D) Several people have asked him about his new eyeglass frames.

(&) The grades have been calculated correctly.

(B) The woman will get the grade she deserves.
(C) The woman received one of the highest grades.
(D) The woman’s grade can’t be changed.

(A) She left the lecture for a few minutes.

(B) She was reading doing the lecture.

() She may have fallen asleep.

(D) She misunderstood the speaker’s last points.

(A) She’s not sure she’ll be seeing Julia.

(B) She’ll phone Julia later in the week.

(C) She doesn’t know Julia’s phone number.

(D) She doesn’t think Julia knows about registration.

(A) Most of them were written near the end of the author’s lifetime.
(B) Many of them aren’t included in the library’s collection.

(C) They were all highly praised by literary critics.
(D) Many readers like to collect them.

(A) The man is a good student.

(B) The man shouldn’t work overtime.

(€) She wishes that she had a job.

(D) She doesn’t want to work with the man.

(A) She doesn’t expect to meet with Kevin today.
(B) She can’t wait any longer for Kevin.



25.

26.

27.

" 28.

29.

30.

31.

32.

EHGIMAS

{£) Kevin is often late.
(D) Kevin has probably overslept.

(A) The books are all required for the history course.

(B) Some of the books are for courses other than history.

¢€) He plans to read more than just the books that are required.
(D) He’s worried he may not finish the required reading.

(A) The man doesn’t have air-conditioning.

(B) The man’s air conditioner is broken.

(C) The man hasn’t been using his air conditioner.
(D) The summer has been unusually hot.

(A) He has decided how he’s going to spend the prize money.
(/B) He doesn’t know how much his rent is going to increase.
(C) He’s already planning to enter next year’s essay contest.
(D) He has already paid his landlord for next year’s rent.

(ﬁ) He’ll probably postpone the test until after he talks about chapter 16 in class.
(B) He usually tells the students ahead of time what will be on his tests.

(C) He’1l probably talk about chapter 16 in class today.

(D) He might test the students on material not discussed in class

(ﬁ) He has been applying only for advertised jobs.
(B) He’s convinced that there’s a shortage of jobs.
(C) He doesn’t have time to read all the job ads.
(D) He’ll help the woman find a job.

(A) To make plans for the evening.

.(B) To ask her about the assignment.

(C) To talk to her roommate.
(D) To give her some information.

(A) To return some business books.

(B) To apply for a new library card.

,(C") To check out some books from the library.
(D) To find out where the art books are located.

(A) The library assistant thinks he has an overdue book.

(B) The books he needs have been checked out by someone else.
(C) The library assistant is unable to locate the books that he needs.
(D) A library notice was sent to him at his previous address.
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33. (A) To explain why he had difficulty finding the library.
(B) To explain why he couldn’t have borrowed library books in June.
(C) To explain why he doesn’t yet have a library card.
(D) To explain why he needs assistance in locating a book.

34. (A) The man has mistakenly received someone else’s books.
(B) The man changed his major from art to business.
(C) The man recently moved off campus.
(P) There are two students named Robert Smith.

35. (A) See if he is related to any of the students.
(B) Apply for a job as a library assistant.
£2) Use his middle name.
(D) Use a different library.

36. (A) Its similarities to previous architecture.
LH) Its impressive and distinctive features.
(C) Methods used in its construction.
(D) How it has preserved for later generations.

37. (A) Public market days.
(B) Races and sporting events.
(€ Processions of priests.
(D) Speeches by politicians.

% 38. (A) It was removed by an invading army.
(B) It broke off when part of the hall collapsed.
(C) It was cut away to let banners pass through the entrance. ﬁvtg_,
(h) It was later used in building another temple.

39. (A) Its lighting.
(B) Its sound quality.
(C) Its air circulation.
(D) Its stability in an earthquake.

40. (A) The relationship between physics and philosophy.
(B) Ancient Greek beliefs about matter and motion.
(C) The effects of Aristotle’s philosophy on current theories of physics.
(D) Aristotle’s use of fire in scientific experiments.

o * 41. (A) Earth.
' ;L// j (B) Water.
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(C) Air.

(P) Fire.

(A) Pulling and pushing motions.

(B) Throwing motions.

(C) Planetary motions.

£D) Natural downward or upward motions.

(&) 1t’s pushed away from Earth by fire.

(B) It’s trying to return to its natural resting place.
(C) It’s attracted to other planets.

(D) Its main substance is water.

(A9 To solicit volunteers for Turtle Watch.
(B) To give an assignment to a biology class.
(C) To warn students not to hurt green turtles.

(D) To describe the nesting and hatching activities of the green turtle.

(A) The lights attract predators.

{B) They need to save electricity

() The baby turtles are attracted to light.
(D) The volunteers use lights for signals.

(A) Write a report about their activities.

’(B) Attend make-up classes with Dr. Webster.

(C) Help find turtle eggs before they hatch.
(D) Spend two hours working for the project.

(A) How people in rural areas preserved food.

(B) The construction of icehouses.

(C) An important industry in the nineteenth century.

(D) How improvements in transportation affected industry.

. (A) Modern technology for the kitchen.

(B) lmproved transportation systems.
(C) Industrial use of streams and rivers.
(D) Increased temperatures in many areas.

(A) Only wealthy families had them.

(R) They were important to the ice industry.
(C) They were built mostly on the east coast.
(D) They are no longer in common use.
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